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X® +x?=3x+2 _ w m

=4 x2(x2 - 4) %+%+(x—2)+(x+2) SEREREE
R u=?(A)§ @)-% ()2 @»%
R v=?(A)§ @)-% ()2 @»%
R W:?(A)g @)-% ()2 @»%

. R m=?(A)—% @)-% ()2 (o

p
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g2 sina+sinB=23in(a;B)co a-p E& 5& -6 &
.sin45000515°=§ ® x=2 (A)V3 (B)4 (C)v3+2 (D)V3+1

sn45°+sn135°=x X x=? (A)¥3 (B)1 (c)v2 (D)-+2

g2 cosa—cosB=—Zsin(a;B)sin(a;B) & 7& -8 &

T T _ X
sin—sin—=—
4 12 4

® x=2? (A)1-43 (B)4 (c)v3+2 (D)v3-1
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27.

cos%[:g ® x=2 (A)o (B)1 (c)2 (D)v2
=2 % x=2 (A3 (B)1 ()3 (D)2
=2 % x=2 (A3 (B)1 ()3 (D)2
tan%n=x ® x=2 (A)V3 (B)1 (C)-v3 (D)V2

f(x)=x?-3x-4 &L x-1 Reg® (A)o (B)-6 (c)-4 (D)6
f(x)=x>-3x-4 &L x+1 Reg® (A)o (B)-6 (C)-4 (D)6
f(x)=x>+3x-4 BREL x-2 R&&& (A)o (B)-6 (c)-4 (D)6
f(x)=x>+3x-4 BREL x+2 R&& (A)o (B)-6 (C)-4 (D)6

f(x)=3x-2 g(x)=3x2-2 R (g(1))=>

(A)o ()1 (c)-2 (D)3

f(x)=3x-2 R f(og,())=2 (A)o (B)1 (c)-2 (D)3
g(x)=3x*-2 R log,(g(t))=2 (A)o (B)1 (c)-2 (D)3

B x2-3x-4=(x-a)(x-b) R a=? (A)-1 (B)1 (c)-4 (D)4
B x2-3x-4=(x-a)(x-b) R b=2 (A)-1 (B)1 (c)-4 (D)4
EXENAERA x°-4x+y’ -4y+7=0 REL =7

(A)@2) (8)(22) (€)(-1.2) (D)(-1.-1)

CHBEMNAERRAE x2-4x+y?>-4y+7=0 R ¥& =7

(A)1 (B)2 (c)3 (D)4

BHAERNARERS 2x+y=5 RfiE =2 (A)1 (B)2 (c)-1 (D)-2
BHAERNARERS 2x=y+5 RfiE =2 (A)1 (B)-1 (c)2 (D)-2
BAERNARRE y=2x+5 K% =2 (A1 (B)-1 ()2 (D)-2
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28 BHAEKNARRE 2x-y=5 KL =2 (A)1 (B)-1 (c)2 (D)-2
20. EAMERMNARRAE 2x=5-y RfE =2 (A)1 (B)2 (c)-1 (D)-2

30 BHAEBWE (12) (34)zEHEMAEXE ax+by=1 Ra=?
(A)1 (B)2 (c)-1 (D

31. EAEBWE(12) (34
(A)1 ()2 (c)-1 (D)-

32. BHBIBME(34) (G6)zERMNARRSE ax+by=1 Ra=7
(A)1 (B)2 (c)-1 (D)-2

33. BHBBRME(34) (G6)zERNARRSE ax+by=1 Rb=?
(A)1 (B)2 (c)-1 (D)-2

)-2
) BRI ERERS ax+by=1 Rb=?
2
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BAEE U=(1,-2), V=(2,1) W=(-1,-2) Y=(-2,1) ,R34 -39
BEEEER
3. % U+V=2 (A)ED (8) (-3.-1) () (3.-1) (D) (1.-3
3. % Y-V =2 (8)(4,0 (8) (4-1) () (-4.0) (0) (1.-3)
3. % W+ =2 (A)3,0 () (-39 (€)Y ©)(0-3
37. % U-2 =2 ()(3.-4 (6) (3.4 () (-3.-4 (0) (3.4
3. % 27—V =2 (A)6.-1) () (-6.1) (C) (-6.-1 (0) (L.-6)

39. R U+2v =2 (A)(3,0) (B) (-3,00 (c) (3,2 (D) (0,-3)

40. BA%(-1,1) TER 3x-4y=5 WIEBEA g Rx=2?

(A)io (B)12 (c)11 (D)2
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41. BA%(-11) BER 3x+ay=5 HERA -
(A)e (B)7 (c)s (D)4

42. BA%(1,-1) BER 3x-4y=5 WIEEES % Rx=2?
(A)io (B)12 (c)11 (D)2

43 BAI%(1,-1) DEH 3x+4y=5 WIEBS g Rx=2?
(A)e (B)7 (c)s (D)4

4. TR —ELEXNELAE

(A)x?+y?-=x+2y=0 (B)x?-y*-x+2y=0 (C)y>-x+2y=0 (D)-x+2y=0

45. THIM— @R XN E R AL R
(A)x2+y?-=x+2y=0 (B)x?-y?-x=0 (C)y*-x+2y=0 (D)-x+2y=0

46. T3M—EHREXNNBEF AWMIIR
(A)x?+y?-x+2y=0 (B)x?-y?-x+2y=0 (C)y?-x+2y=0 (D)-x+2y=0

47. FHW—ELEXNEEAELR

(A)x?+y?-x+2y=0 (B)x?-y?-x+2y=0 (C)y?-x+2y=0 (D)-x+2y=0
48. THWM—EHREXNELAEE

(A)x2+2y2-x+2y=0 (B)x*-y2-x=0 (C)y?-x+2y=0 (D)-x+2y=0

49. THW—ER y*-x+2y=082 4-x+2y=0REB <z x EEZ
(A)3 ()2 (c)1 (D)o
50. FTHIM—ER y*-x+2y=08 4-x+2y=0REz y BE

(A)3 (B)2 (c)1 (D)o
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